PHYS 102:General PhysicsIl KOC UNIVERSITY Spring Semester 2013
College of Sciences
Section 1 Quiz 6 21 March 2013

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes

Name: Student ID: Signature:

Find the current through each resistor in the circuit.
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PHYS 102:General Physicsll KOC UNIVERSITY Spring Semester 2013
College of Sciences
Section 6 Quiz 6 21 March 2013

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes

Name: Student ID: Signature:

Consider the circuit given in the figure. The capacitor is initially uncharged and the switch S
is closed at t=0. Long time after (t goes to infinity) the switch S is closed, find the potential
difference ¥, — ¥, . What is the maximum charge on the 2 uF capacitor?
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PHYS 102:General PhysicsIl KOC UNIVERSITY Spring Semester 2013

Section 2

College of Sciences
Quiz 6 21 March 2013

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes

Name:

Student ID: Signature:

Calculate the three currents /;, /, and /5 indicated in the circuit diagram.
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PHYS 102:General PhysicsIl KOC UNIVERSITY Spring Semester 2013
College of Sciences
Section 3 Quiz 6 21 March 2013

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes

Name: Student ID: Signature:

Consider the circuit in given the figure. The capacitor is initially uncharged and the switch S
is closed at t=0. Find the currents /,, /, and /3 just after the switch S is closed.
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PHYS 102:General Physicsll KOC UNIVERSITY Spring Semester 2013
_ College of Sciences
Section 4 Quiz 6 21 March 2013

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes

Name: Student ID: Signature:

Consider the circuit given in the figure. The capacitor is initially uncharged and the switch S
is closed at t=0. Long time after (t goes to infinity) the switch S is closed, find the potential

difference ¥, — V. What is the maximum charge on the 10 uF capacitor?
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PHYS 102:General Physicsll KOC UNIVERSITY

College of Sciences
Quiz 6

Spring Semester 2013

Section 5 21 March 2013

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes

Name: Student ID: Signature:

Consider the circuit in the figure. The capacitor is initially uncharged and the switch S is
closed at t=0. Find the currents /;, /, and /5 long time after (t goes to infinity) the switch S

is closed.
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